

()

@

@

$$s \sqrt{\quad} \quad \Bigg|$$

$$s \frac{\quad}{(+)} \quad \Bigg|$$

$$s \frac{-}{(-)} \quad \Bigg|$$

$$s \frac{- (+)}{\quad} \quad \Bigg|$$

$$s (-) \quad \Bigg|$$

$$s \frac{\quad}{(-)} \sqrt{\quad} \quad \Bigg|$$

$$s(-)(+)$$

$$\frac{s}{-V}$$

$$s(+)^{\frac{1}{2}}$$

$$\frac{sV}{(-)V}$$

$$s\left(+ + \frac{+}{+}\right)$$

$$s\left(- + \frac{-}{+}\right)$$

$$s(+)(+)$$

$$s(+)$$

$$s \frac{+}{\quad} \quad \left. \vphantom{s} \right\}$$

$$s (\quad - \quad -) \quad \left. \vphantom{s} \right\}$$

$$s (\quad - \quad -) \quad \left. \vphantom{s} \right\}$$

$$s \frac{- (\quad - \quad)}{\quad} \quad \left. \vphantom{s} \right\}$$

$$s \frac{+}{(\quad + \quad)} \quad \left. \vphantom{s} \right\}$$

$$\frac{\quad}{(\quad + \quad)} = (\quad) \quad \leftarrow [\quad] :$$

$$\frac{\quad}{+} = (\quad) \quad \leftarrow [\quad] :$$

$$s (\quad) \quad \left. \vphantom{s} \right\}$$

$$\frac{\quad}{(\quad + \quad)} = (\quad) \quad \leftarrow [\quad] :$$

$$\frac{\quad}{+} = (\quad) \quad \leftarrow [\quad] :$$

$$s (\quad) \quad \left. \vphantom{s} \right\}$$

$$s(-) \left. \vphantom{s} \right\}$$

$$s \sqrt{(-)} \left. \vphantom{s} \right\} -$$

$$s \frac{1}{(+)} \left. \vphantom{s} \right\}$$

$$s(+)(-) \left. \vphantom{s} \right\}$$

$$s \frac{1}{(-)(+)} \left. \vphantom{s} \right\}$$

$$s \sqrt{+} \left. \vphantom{s} \right\} -$$

$$s(-) \left. \vphantom{s} \right\}$$

$$s(+) \left. \vphantom{s} \right\}$$

$$s \left[\frac{1}{+} \right] - \left. \vphantom{s} \right\}$$

$$s \left(\frac{+}{- \sqrt{\quad}} \right) \left(\frac{-}{- \sqrt{\quad}} \right) \Bigg\}$$

$$s \left(+ \sqrt{\quad} + \right) \frac{- \sqrt{\quad}}{- \sqrt{\quad}} \Bigg\}$$

$$s \left(\sqrt{\quad} + \right) - \Bigg\}$$

$$s \left(+ \quad - \quad \right) \left(+ \quad \right) \Bigg\}$$

$$\left(\quad \right) = \quad - \quad = \left(\quad \right)'$$

$$\left(\quad \right) \quad \left(\quad \right) =$$

$$/ \quad / \left(\quad - \quad \right) = \left(\quad \right)$$

$$\left(\quad \right)$$

$$\left(\quad \right) =$$

$$\cdot \left(\quad \right)$$

$$\left[\frac{\quad}{\quad} + \right] \left[\frac{\quad}{\quad} - \right]$$

$$\left(\quad \right)$$

$$\left(\quad - \quad \right)$$

$$\cdot \left(\quad \right)$$

$- =$	$- =$	$+ =$	$=$
$\cdot =$	$- =$	$- =$	$=$
$=$	$\frac{(-\sqrt{\quad})}{\sqrt{\quad}}$	$=$	أوجد مساحة المنطقة المحددة بالمنحنى
$\cdot =$	$- =$	$=$	$=$
$\cdot =$	$=$	$+ =$	$+ =$
$- =$	$- =$	$+ =$	$=$
$\cdot =$	$=$	$- =$	$=$
$\cdot \sqrt{\quad} =$	$- =$	$=$	$=$
$\cdot \sqrt{\quad} =$	$- =$	$=$	$=$
$\cdot =$	$=$	$\text{---} =$	$=$
$=$	$=$	$=$	$=$
$=$	$\cdot =$	$=$	$=$
$\{ \sqrt{\quad + \quad} \geq \geq \geq \geq : (\quad) \} =$			

$$\sqrt{-V} =$$

$$\cdot = =$$

$$\sqrt{+V} =$$

$$\cdot = =$$

$$(-) =$$

$$= =$$

$$= = =$$

$$\cdot =$$

$$/ (+)$$

$$/ (-) = \frac{s}{s}$$

$$\cdot (+) = // \quad () =$$
$$\cdot (-) \quad ()$$

$$\frac{\quad}{-} ()$$

$$\cdot (-) \quad () =$$

$$\left. \begin{aligned} & \sqrt{\quad} + \quad - \quad \sqrt{\quad} \quad (\quad + \quad) \end{aligned} \right\}$$

$$\left. \begin{aligned} & \frac{\sqrt[3]{9s}}{(\sqrt{\quad} + \quad)} \end{aligned} \right\}$$

$$(\quad - \quad) \text{ ————— } = \frac{s}{s}$$

$$\cdot \quad \exists (\quad) \quad (\quad) =$$

$$\cdot \sqrt{\quad} = \quad =$$

:
(
(

$$/ \quad + \quad = (\quad)$$

/

$$\left. \begin{aligned} & \frac{s^3(1-s^5)}{s^0} \end{aligned} \right\}$$

$$\left. \begin{aligned} & \frac{s^3 + 2s^4 + 2s^5 + 1}{s^2 + 2s + 1} \end{aligned} \right\} :$$

$$\cdot \quad = \quad - \quad =$$

	$= \quad - \quad =$	
	$s \frac{1+s}{s^2(s^2+2s)}$	
	$s (+)$	
	$- = \quad - =$	$($ $($
	$(+) \quad (-)$	
	$s (-)$	
	$s \frac{\sqrt{s}}{(\sqrt{s} -)}$	
	$- \quad () \quad () =$	$- =$

$$+ = \quad + =$$

. []

(
(

$$s \frac{s^5}{1+s\sqrt{1+s^3}} \Bigg|$$

$$s(-+)(--)$$

$$- = s \frac{\sqrt{s+2}}{s^4} \Bigg| :$$

$$. | | = \quad - =$$

$$() = \quad ()$$

$$: + - = ()'$$

(
(

$$. - = \quad - \sqrt{ } =$$

$$s \frac{+}{(- -)} \Bigg|$$

$$s(-+)(-)$$

$$(-) = (-) =$$

$$s \sqrt{+}$$

$$\begin{aligned} & - (-) \\ \cdot (-) & \quad () = \end{aligned}$$

$$s \frac{9 - 8s + 24s^2 - 8s^3}{9 + 12s - 4s^2}$$

$$s \frac{+}{(+)}$$

$$s(+)$$

$$(-) \quad ()$$

·
(
(

$$= =$$

$$\cdot / (+) = ()$$

$$= () \quad \sqrt{\quad} = ()$$

= =

$$s \frac{\quad}{(+ -)}$$

$$s (\sqrt{\quad} + \sqrt{\quad}) \sqrt{\quad}$$

$$\frac{\quad +}{(+ +)} = ()$$

← [] :

$$\frac{\quad}{(+ +)} = ()$$

← [] :

(
(

$$[] \ni \leq () = =$$

$$s (-) \leq s (+)$$

$$\cdot = \sqrt{\quad} =$$

$$s \frac{\quad}{+ \sqrt{\quad}}$$

$$s \frac{(-\sqrt{v})}{\sqrt{v}} \Bigg|$$

$$s(- -) - \Bigg|$$

$$= + =$$

$$- = \sqrt{v} =$$

$$= + - =$$

$$s \frac{-}{-\sqrt{v}} \Bigg|$$

$$s | - | \Bigg|$$

$$. + = =$$

$$= \frac{s}{s} (-) = \frac{s}{s} = =$$